B,

21.

39.

L |

A. 0.04

. Am '{, 20% chance of rain
1.4’ m B
Er——a v : e Mg-
2 ,

k=090 Lg*A0= (090

Whole - nside = (0t 720= 340

30"
. vJaJwaa 1) %-Gr.

30’ @ 30“2” <1720

5 vooms X $92 tong = Yol
£ M Levdn
3 sall windws x $39.50 -5 11850
( {Ma(, Nivdor x \S"la cwrtaing: §79
(39.60x2)
$ 150+ £ 18,50+ &19 - §293.90
*Xaypword: ndspondird = PLA and B)= P(A)* LB

_ ¥% —7Azcrmjs0.2* 2.2*0.220.04
KZ"J’% Y-E:Wsm'-'h)(

®

g § . Mh-u-2 X
I

H. (fe)°= %

J_ ﬁxﬁ: 2%B :Jﬁ;:q )Q
WA ANV TV AY T

Y (19,4)
Ly woppsite 1Y) gives distne on g 4
distthce on 9

10 pl'“f
HIS G oot g o B %=%






